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EDUCATION

PAPER-VI

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.

Answer any three questions, taking at least one from each GROUP-A and
GROUP-B. For GROUP-C and GROUP-D, answer as per directions

GROUP-A
1. Discuss in detail, the meaning, nature and scope of educational management. 4+6+6
2. Discuss the need of co-curricular activities. How can these be organised in a 8+8
school?
3. Explain the role of teacher and students in ‘School Health Service’. 8+8
GROUP-B
4. What is micro-teaching? Discuss the advantages and disadvantages of micro- 4+6+6
teaching.
5. Identify the barriers of classroom communication. How can these barriers be 4+12
removed?
6. What is system approach in education? Discuss different components of an 6+10
educational system.
GROUP-C
7. Answer any four questions: 10x4 =40

(@) Discuss the importance of mass media in education.

(b) Write a short note on symposium.

(c) Discuss the advantages and disadvantages of Team Teaching.
(d) What is the importance of school beautification?

(e) Discuss the importance of educational technology.

(F) Write down the strategies of maintaining institutional discipline.

3014 1 Turn Over



B.A./Part-111/Hons./(1+1+1) System/EDCH-V1/2022

8.

(g) Write about panel discussion and seminar.
(h) Describe the limitations of distance learning.

GROUP-D

Answer / Fill in the blanks of the following:
(@) Define holistic curriculum.
(b) CAl stands for :
(c) Micro-teaching is technology.
(d) Full form of Email is :
(e) What is meant by upward communication?
(F) What is free discipline?
(9) Branching programme was developed by
(h) www stands for :
(i) Coding and decoding is a part of
(J) School is a miniature
(k) What is inspection?
() The main types of administration are
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in number.
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